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PHẦN III - TIẾNG ANH.
Câu 41: Mark the letter A, A, C, or D on your answer sheer to indicate the correct response in the following exchange.
Trang has just won the first prize in the English speaking Coritest.
Mai: "So, you've just won the first prize in the English speaking contest, haven't you? Good job! - Trang: ".................."

A. Thanks a lot.

B. You're welcome!
C. It's my pleasure.
D. Why me?

Câu 42: Mark the letter A, B, C or D on your answer sheer to indicate the sentence that has the same Heaning as the sentence printed before it.
No one has seen Linda since the day of the party.

A. Linda hasn't been seen since the day of the party.

B. This is the first time Linda has ever had a party.

C. The party is going on without Linda.

D. Linda hasn't seen anyone at the party.

Câu 43: Mark the letter A, B, C, or D on your answer sheer to indicate the sentence that has the same meaning as the sentence printed before it.
Although the sky was cloudy, they took many photos.

A. Because of the cloudy sky, they took many photos.
B. The sky was too cloudy for them to take many photos

C. The sky was cloudy, so they didn't take many photos.
D. Despite the cloudy sky, they took many photos.

Câu 44: Mark the letter A, B, C, or D on your answer sheer to indicate the correcr answer to the following question.
I don't like people ..............., talk loudly in public places.

A. which

B. Who


C. When


D. where

Câu 45: Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to the following question.
It would be better if we use .......... transport in big cities to reduce traffic jams and air pollution.

A. common


B. Heavy

C. Public

D. private

Câu 46: Mark the letter A, B, C or D on your answer sheer to indicate the word whose underlined part differs from the other three in pronunciation.
A. install
B. Tropical


C. Public

D. sight

Read the following passage and mark the letter A, B, C or D on your answer sheer to indicate the correct answer to each of the questions.
It's interesting how many parts of beauty can be displayed through clothing styles. Clothing in many cultures is very colorful. In the name of fashion, dye is often applied to cloth. This improves its appearance. There has also been a change in how.dyes are created. In modern times, most cloth dyes are chemicals that have been made by scientists. Many years ago, dyes were made from natural things like flower petals, tree bark, and shellfish. In ancient times, dye was bought at the town market. Even today, in some cases, you can see piles of brightly colored powder for sale in local markets. Don't touch this cloth dye, though, or you'll end up very colorful yourself! Its also possible that some dyes for clothing are poisonous, so beware.
Câu 47: Why do we apply dye to cloth?

A. Because it is cheap.   B.  To make clothes poisonous
C.Because it is fashionable.   D. To create chemicals.
Câu 48: When was all dye natural and NOT chemical?

A. Ten years ago    B. Today      C. Long ago     D. In modern times
Câu 49: What is the best title for this reading?

A. Clothing Dye - Past and Present     B. The History of Clothing
C. Dangerous Dye                                D. Clothing Is Colorful

Câu 50: What is the best meaning for the word "beware" in the last line?

A. put it on     B. run away      C. be careful       D. pay attention

ĐỀ SỐ 2

PHẦN II. TIẾNG ANH (4,0 điểm) Choose the word whose underlined part is pronounced differently from that of the rest.
Câu 31: A. cheer       B. child      C. school       D. check
Câu 32: A. opened    B. played     C. installed    D. polluted
Choose the correct answer to complete each of the following sentences.
Câu 33: Your father stopped smoking two years ago, _____?
A. doesn't he    B. did he    C. didn't he        D. does he

Câu 34: If we _____ wasting water, there will be a shortage of fresh water in the future.
A. go to         B. turn on         C. go on           D. turn off
Câu 35: - Huy: “You look lovely in this dress, Ngoc!”
- Ngoc: "____"
A. Thanks. It's a nice compliment.          B. I've just had my dress made.
C. My aunt did it yesterday.                   D. Can you do it again?

Câu 36: My aunt Hoa, ________ works in the national bank, earns a lot of money.
A. which          B. who           C. where             D. when
Câu 37: It's raining, ______ I can't go to the beach.
A. because        B. so            C. although         D. but
Câu 38: Many students enjoy _____ a field trip to the countryside.
A. having           B. had          C. to have           D. have
Choose the underlined part that needs correction in each of the following sentences.
Câu39: It is very cold today. I wish it is warmer.
              A               B                  C      D
Câu 40: We are talk about the preservation of natural resources.
                A       B             C            D
Read the passage and choose the correct answer to each of the following questions.
Long ago, people thought the Moon was a God and we would never be able to reach it. However. the invention of telescope in 1608 enabled people to learn that the Moon is just another planet. And mankind's dream of walking on the Moon suddenly seemed possible.
The dream came true on July 20th. 1969 when Neil Armstrong, Buzz Aldrin and Michael Collins ew to the Moon as part of the Apollo 11 lunar mission. Neil Armstrong was the first to step onto the Moon. During the stay of more than twenty-four hours on the Moon's surface, the astronauts found no rain or wind at all. The Moon was like a desert with plains, mountains and valleys. The surface was covered with dust, which was so thick that they left footprints where they had walked. They left a US flag there and returned to the Earth with forty six pounds of moon rock for scientific study. https://nguyenthienhuongvp77.violet.vn/
Câu 41: What does the passage mainly discuss?
A. The discovery of the Moon           B. The Moon was a God
C. The invention of telescope            D. The history of the Moon

Câu 42: Who was the first person to walk on the Moon?
A. Buzz Aldrin    B. Neil Armstrong   C. Michael Collins    D. Christopher Columbus

Câu 43: When was the telescope invented?
A. in 1996      B. in 1969    C. in 1680        D. in 1608

Câu 44: What was the surface of the Moon covered with?
A.snow    B. rain    C.dust      D. wind

Câu 45: What does the word "They" in bold in the second paragraph refer to?
A. Footprints      B. Astronauts          C. Mountains         D. Valleys
Choose the sentence that is closest in meaning to each of the following sentences.
Câu 46: Even though she was old, she looked very graceful.
A. Because she was old, she looked very graceful.    B. She looked very graceful, so she was old.
C. She looked very graceful in spite of she was old.   D. Despite her old age, she looked very graceful.
Câu 47: "Why don't we go to the mountains for the weekend?" She said.
A. She suggested going to the mountains for the weekend.
B. How about go to the mountains for the weekend?
C. Let's going to the mountains for the weekend.
D. I think she should going to the mountains for the weekend.

Câu 48: When did Lan start to learn English?
A. How long ago has Lan started to learn English?
B. B. How long was Lan starting to learn English?
C. How long does Lan start to learning English?
D. How long has Lan been learning English?

Choose the sentence that is correctly built from the words given in each of the following sentences
Câu 49: If / you / lose / passport, / you / trouble.
A. If you lose your passport, you be in trouble.
B. If you lose your passport, you in trouble.
C. If you lose your passport, you will be in trouble

D. If you lose your passport, will you in trouble.
Câu 50: Ninh Binh province / Bai Dinh pagoda / attract / foreign visitors.
A. Ninh Binh province, when has Bai Dinh pagoda, attracts many foreign visitors.
B. Ninh Binh province, which has Bai Dinh pagoda, attracts many foreign visitors.
C. Ninh Binh province, whom has many foreign visitors, attracts Bai Dinh pagoda.
D. Ninh Binh province, who attracts many foreign visitors, has Bai Dinh pagoda.
ĐỀ SỐ 3
PHẦN II. TIẾNG ANH
Read the passage below carefully and fill in each blank with the best option A, B, C, or D.

The History of Bags and Purses

Bags and purses came in a variety of designs for a number of purposes. The introduction of pockets towards the end of the 16th century meant that the men's bags slowly disappeared. From then on, bags belonged almost only to 41)_______.

(42) _______the 20th century, more and more women went out to work and became more mobile. This resulted in all sorts of bags for (43) _______purposes such as leather document cases for going to the office, practical leather and plastic daytime bags for walking and visiting, elegant, sparkling bags for evening use.

Branding became more and more important during the 20th century. Famous designers include Hermès, Louis Vuitton, Gucci and Prada. For (44) _______ designers such as Chanel, Dior, Yves Saint Laurent, Versace, Donna Karan and Dolce & Gabbana, the handbag has become an important accessory. In contrast with the past centuries, the (45) _______has now developed into a fashion accessory and it changes with every season.

     (Adapted from https://tassenmuseum.nl/en/knowledge-centre/history-of-bags-and-purses)

41. 
A. children
B. men
C. women
D. animals

42.
A. In
B. At
C. Between
D. Under

43.
A. differ
B. different
C. differently
D. difference

44.
A. fashion
B. architect
C. industry
D. transportation

45.
A suitcase
B. pocket
C. luggage
D. handbag

Choose the word whose underlined part differs from the other three words in pronunciation in each of the following questions.

46.
A. believed
B. impressed
C. enjoyed
D. consumed
47.
A. crop
B. cross
C. cloth
D. close

Choose the word which differs from the other three words in the position of the primary stress in each of the following questions.

48.
A. study
B. improve
C. achieve
D. succeed

49.
A. impressive
B. effective
C. generous
D. terrific

50.
A. compulsory
B. traditional
C. experienced
D. economic
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Read the passage below carefully and choose the best option A, B, C, or D.

The La Tomatina is a festival held on a Wednesday towards the end of August in the town of Buñol in the Valencia region in Spain. The weeklong festival includes music, parades, dancing, and fireworks.

About 30,000 people come to the tomato fight, while Buñol population is only 9,000. There are not many accommodations for people who come to La Tomatina, so many participants stay in Valencia and travel by bus or train to Buñol, about 38 km outside the city.

Many trucks transport tomatoes into the center of tile town, Plaza del Pueblo. The tomatoes come from Extremadura, where they are less expensive. The signal for the beginning of the fight is firing of the cannon, and the chaos begins. Once it begins, the battle is generally every man for himself. People who partake in this event are strongly encouraged to wear protective safety goggles and gloves. In addition, they must squash the tomatoes before throwing for safety precautions. Another rule is that no one is allowed to bring into this fight anything that may lead to a more serious fight, such as a glass bottle. People must also stay away from trucks and must not tear someone else's clothing. Somewhere between an hour and two hours, the fighting ends and the cannon is fired once more to signal the end. At this point no more tomatoes can be thrown. The cleaning process involves the use of fire trucks to spray down the streets, with water provided from a Roman waterway. People find water to wash themselves, most likely at the Buñol River.

(Adapted from http://www.latomatina.org)

35. According to paragraph 1, when is La Tomatina held this year?

A. Wednesday 27/6/2018
B. Wednesday 25/7/2018

C. Wednesday 29/8/2018
D. Wednesday 26/9/2018

36. According to paragraph 2, why do people stay in Valencia?

A. Because they can take a bus or main to Spain
B. Because there are not enough hotels in Buñol

C. Because there is a weeklong festival in Spain
D. Because they want to live 38 km from Buñol

37. What does the word "transport" in the third paragraph mean?

A. save
B. grow
C. consume
D. carry

38. What does the word "they" in the third paragraph refer to?

A. trucks
B. tomatoes
C. chaos
D. people

39. According to paragraph 3, what are NOT used in the tomato fight?

A. Bottles
B. Gloves
C. Goggles
D. Tomatoes

40. What happens right after the firing of the second cannon?

A. People begin squashing tomatoes
B. People start fighting against each other

C. People stop throwing tomatoes
D. People finish cleaning the streets

V. Vocabulary and Grammar  Choose the best option A, B, C or D.

41 The scientists worked very hard and they finally achieved some marvelous results with this new drug. The synonym of "marvelous" is ______.

A. disappointed
B. compulsory
C. wonderful
D. convenient

42. The relationship is very complicated. He's my mother's cousin's daughter's son. The antonym of "complicated" is ______.
A. simple
B. peaceful
C. ancient
D. trusty

43. Find a mistake in one of the four underlined parts of the following sentence.

When I reached the bus stop yesterday morning, the bus has already left.

   A
B
C
D

44. Thank you for ______me with my math homework.

A. help
B. helping
C. helper
D. helpful

45. My friend Monalily is as pretty ______a picture.

A. more than
B. as much
C. as
D. so

46. I must congratulate you ______ your very impressive show.

A. in
B. on
C. at
D. for

47. I'm ______forward to seeing you again.

A. coming
B. going
C. looking
D. bringing

48. I use Facebook only ten minutes a day ______it's time-consuming to spend much time on it.

A. in spite of
B. because of
C. because
D. however

49. How much time do you spend ______the Internet each day?

A. surf
B. surfed
C. to surf
D. surfing

50. Your idea sounds ______.
A. interesting
B. interested
C. interestingly
D. interestedly

ĐỀ SỐ 5

Read the passage below carefully and choose the best option A, B, C, or D.

On average, more than 100,000 wildfires, also called wild land fires or forest fires, destroy two million hectares of land in the U.S. every year. A wildfire moves at speeds of about 20 kilometers an hour and can last for weeks, consuming everything - trees, brush, homes, and humans - in its path.

There are three conditions for a wildfire to bum: fuel, oxygen, and a heat source. Fuel includes trees, grasses, bushes, and even homes. Oxygen is necessary for a fire to bum. Heat sources help start the wildfire. Although most wildfires are started by people, natural factors like lightning, hot winds, and even tile sun can all provide enough heat to start a wildfire.

Firefighters fight wildfires by removing the conditions for a wildfire to bum. Traditional methods include using water and fire retardants to put out the fires. Firefighters also fight wildfires with "controlled burning". These controlled forest fires remove small trees, bushes, and ground litter from a forest. This will deprive a wildfire of fuel and prevent future forest fires.

Although often harmful and destructive to humans, wildfires play an important role in nature. Even healthy forests contain dead trees and decaying plant matter. When a fire turns them to ashes, nutrients return to the soil. They also remove sick plants and harmful insects from a forest. And by burning through thick leaves and branches, wildfires allow sunlight to reach the forest floor, making it possible for a new generation of trees to grow.

(Adapted from https://www.nationalgeographic.com and https://science.howstuffworks.com)

42. What does the phrase "deprive a wildfire of fuel" in the third paragraph mean?

A. create fuel for a wildfire
B. provide a wildfire with fuel

C. save fuel for a wildfire
D. take away fuel from a wildfire

43. What does the word "they" in the last paragraph refer to?

A. wildfires
B. forests
C. ashes
D. nutrients

44. According to the last paragraph, why do wildfires play an important role in nature?

A. They bum all leaves and branches.
B. They bum sick plants and harmful insects.

C. They burn a new generation of trees.
D. They bum nutrients in file soil to ashes.

45. Which of the following is NOT mentioned in the passage?

A. Benefits of wildfires    B. Causes of wildfires    C. Worldwide wildfires    D. Controlled wildfires

V. Vocabulary and Grammar  Choose the best option A, B, C or D.

46. We have to finish our homework before we can play games, ______we?

A. have
B. haven't
C. do
D. don't

47. The room was hot. I tried ______ the window, but that didn't work.

A. open
B. opening
C. to be opened
D. being opened

48. Paul used to play games all day when he was in college. He wishes he ______his time.

A. doesn't waste
B. hasn't wasted
C. didn't waste
D. hadn't wasted

49. She's a very ______speaker. Everybody listens with great interest whenever she speaks.

A. impressive
B. similar
C. convenient
D. Industrial

50. I had to buy a new washing machine because it would not have been ______ to get my old one repaired.

A. economical
B. compulsory
C. interactive
D. time-consuming
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